© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

01192176 HANSAMEDICA - Wastafelkraan

EAN: 4015474078482

statichansa.com/01192176

Reserveonderdelen
SP01192173
Naam Code
1 Hendel, L=87 mm 59914195
1 Lange hendel, L=138 Chroom 01880076
11 Schroef, M5x8, SW2.5 59904755
12 Joint klassiek uitloop 59904778
13 Sierdop Grijs 59912112
2 Kap Chroom 59912647
3 Bevestigingsschroeven, M50x1, SW45 59904890
4 Binnenwerk, 4.8 eco 59904601
41 Hot water limiter 59904759
51 Trekstang Chroom 59912505
52 Gewrichtstuk 59904624
53 Dichting, 37x48x3.5 59911422
55 Fixing plate 59904765
56 Schroef, M8x1, SW13 59904766
57 Bevestigingsset 59910749
58 Koppelingsbuisdeel], L=430, M10x1 59912550
58 Flexibele aansluitingen, L=430, G3/8-M10x1 59912515
59 Dichting 59912646
510 Bevestigingsschroeven, M8x1, L=140 59912474
51 Dichting, 40.3x6 59911387
512 0-ring, d 7.65x1.78 59902337
513 Dichting, 9.5x14.4x2 59912551
6 Mousseur, M24x1 STD HC A Chroom 59902366
6 Mousseur, M24x1 A Wit 59905419
6 Mousseur, M24x1 (2011-) 59913739
6.1 Mousseur, M22/24 A 59902081
7 Wastegarnituur Chroom 59904620
8 Uitloop Chroom 59912644

1


https://static.hansa.com/01192176

